University of Ottawa –School of Technology and Engineering (SITE)

CSI3717 – Database Management Systems – Fall 2004
Assignment 2
Due date: Dec 1, 2004, 6PM 



(Do the assignment in groups of two)
QUESTION I [30%]  (Do 2 of the 4 following exercises)
1. Exercise 10.2 (1)—(3), (6)
2. Exercise 10.10 (1), (2)
3. Exercise 12.4 (1)--(4)
4. Exercise 14.4 (1), (4)
QUESTION II [30%] 
1. [15%] Which one of the following schedules is (conflict) serializable? For each serializable schedule, give the equivalent serial schedules.
a. S1 = R1(X),R3(X),W1(X),R2(X),W3(X)
b. S2 = R1(X),R3(X),W3(X),W1(X),R2(X)
c. S3 = R3(X),R2(X),W3(X),R1(X),W1(X)
2. [15%] Consider the following schedules:

a. R1(X),R2(Z),R1(Z),R3(X),R3(Y),W1(X),W3(Y),R2(Y),W2(Z),W2(Y)
b. R1(X),R2(Z),R3(X),R1(Z),R2(Y),R3(Y),W1(X),W2(Z),W3(Y),W2(Y)

Draw the serializability graph and state whether each one of them is serializable or not.
QUESTION III [40%]
Consider the relation Courses whose schema is a follows:

Courses(CourseNo, SecNo, Dept, CreditHours, Level, Instructor,    

               Semester, Year, DaysHours, RoomNo, NoOfStudents) 

Suppose that you are given the following functional dependencies for the relation Courses:

CourseNo ( Dept, CreditHours, Level


CourseNo, SecNo, Semester, Year ( DaysHours, RoomNo,  

                      




NoOfStudents, Instructor

RoomNo,DaysHours, Semester, Year ( Instructor, CourseNo, SecNo

Determine a key for Courses. Normalize the relation Courses; apply the normalization until you cannot go any further.
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